FRTEE

B L CIEH KB,
33 1 b= BRX
5 :puk:Scd - coD#® |B(HE#ER) XCE%E
St.1 EFR-BEE I @R) HiEEE
— &I E _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE iR =X 2=
58 BEh 22.0 19.4 19.0 3.0 — A -8 |meE |
718 BEh 285 28.0 27.0 5.0 45 BE mae mR
9H £l 29.5 28.5 28.5 6.0 4.0 BE me mR
118 BEh 21.0 21.0 21.0 3.0 3.0 BE mae mR
18 BEh 115 16.0 16.0 6.0 6.0 BE mae mR
38| Bh 9.0 13.0 13.0 6.0 4.5 BE Be i
4FRRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.3LLF | 0.03LLF
EE(75%1E) = 7.8 2.2(2.0) = <0.5 0.29 0.039
58 =E 8.2 9.3 74 - <05 0.47 0.067
IE 8.2 8.1 3.7 - <0.5 - -
78 == 8.2 6.4 1.4 - <0.5 - -
th B 8.2 6.0 1.8 - <0.5 - -
oF == 8.2 75 1.9 - <0.5 0.18 0.023
GIE 8.2 7.0 2.9 - <0.5 - -
118 == 8.2 8.4 1.8 - <0.5 0.22 0.035
GIE 8.2 8.6 2.0 - <0.5 - -
1A == 8.3 7.9 <0.5 - <0.5 - -
IE 8.3 7.9 <0.5 - <0.5 - -
3H == 8.1 8.2 15 - <0.5 0.27 0.029
B 8.2 7.7 0.9 - <0.5 - -
BEIEE (REDHEHAD
I INESS S & ANE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = s —pats FARY TN . MREEERY
TI?‘I/‘J oAy 7’"77.1-\ DA @IV jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.01LLF [0.00260F | 0.006LLF | 0.003LLTF [ 0.02LLF | 0.01LLTF | 0.01LLF | 10LLTF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
58 - - - - - - - -
78] <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
98 - - - - - - - -
118 - - - - - - - -
1Bl <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.26
38 - - - - - - - -
FNHIER
Jz/—n| @ sS =3 N PLTE VN R e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHEl - - 3 0.01 - -
=E - - 7 - - -
5H ;E _ _ 4 — _ —
B - - 2 - - -
7H ;E _ _ 4 — _ —
= - - 1 0.01 - -
gﬁ ;E _ _ -I - _ —
B - - 4 - - -
1 1 H ;E _ _ 4 — — —
= - - i< - - -
A Tew - - < - - -
=E - - 3 - - -
3
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEISTE| 20000 <0.01 0.03
58 =E 19000 - 0.06
th|8 20000 - -
78 =B 21000 <0.01 -
th[8 20000 - -
9A =B 20000 - 0.02
th|8 19000 - -
118 =B 19000 - 0.01
th|8 19000 - -
1A =B 23000 <0.01 -
th|8 21000 - -
38 #&E | 19000 - 0.03
th 21000 - -



FRTEE

B L CIEHKE,
zzBuk 4 =1 H18;E s
5 uF3c) - COD#E! |AGG#HBIR) L’%ﬁtﬁ
St.2 ER- BB I EHYR) HiDZEE
—iRIEE _
K& (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 23.2 19.0 19.1 7.0 — BE |meE mR
78 BEh 28.5 27.0 26.0 10.0 7.0 BE |meE mR
9H £l 29.5 28.5 28.5 5.0 45 BE me mR
118 BEh 21.0 21.0 21.0 2.0 2.0 BE mae mR
18 BEh 10.5 16.0 16.0 4.0 4.0 BE mae mR
3A] ®Bh 9.0 135 135 6.0 5.0 BE i) mR
4FRRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 7.8 1.2(1.6) = <05 0.23 0.029
58 == 8.2 7.6 1.8 - <05 0.30 0.048
IE 8.2 7.6 1.9 - <0.5 - -
78 == 8.2 6.3 1.6 - <0.5 - -
IE 8.3 6.6 1.6 - <0.5 - -
oF == 8.3 75 0.9 - <0.5 0.15 0.018
IE 8.3 8.1 15 - <0.5 - -
118 == 8.2 8.5 1.3 - <0.5 0.17 0.025
GIE 8.2 8.3 1.4 - <0.5 - -
1A == 8.3 8.0 0.5 - <0.5 - -
GIE 8.3 8.0 <0.5 - <0.5 - -
3H == 8.2 8.4 1.0 - <0.5 0.28 0.025
B 8.2 8.7 0.8 - <0.5 - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =
yani| mige [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z _ — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R = = = = = = = =
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TI;-_ Ly I:I7I:I//\°> 7’"77.1-\ v a;Jj}-[:\j.J oty LY iﬁi&é&;@;*u
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
£:F=E> fE] 0.01LLF 10.00254F [ 0.006LLF [ 0.003LLF | 0.02LLF | 0.01LLF | 0.01LLF 10ELF
11 | IR - = = = = = =
Al - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
1A - - - - - - - -
3H - - - = = — - -
ZDHhIFE
— RILL
Iz/— ] SS ZE®R |JOAKRLL| 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - ? - = .
RE - - <1 - - -
58 ; E - - > - - -
=] _ _ 2 _ _ _
18 ; E — — : - - =
=] _ _ 2 _ _ _
9A ; E - - 1 - = -
=] _ _ 3 _ _ _
=] _ _ 1 _ _ _
=] — — 1 — — _
3H B - - : - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
SFﬂﬂI_E 20000 = 0.02
58 xRE 19000 - 0.04
th B 19000 - -
78 AL 19000 - -
hE 20000 - -
9K xRE 19000 - 0.02
hE 20000 - -
118 xRE 19000 - <0.01
th B 19000 - -
18 =RE 20000 - -
P E 20000 - -
38 xRE 21000 - 0.02
i 21000 - -



FRTEE

B L CIEHKE,
33 J] #h 14 i X
5 zpuk3ts - COD#EE! |B(H#R) EE?_t ~%l:
St.3 ER- BB I EHYR) HiDZEE
—iRIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 21.8 18.8 18.8 11.0 — BE |meE mR
78 BEh 29.0 27.0 26.0 10.0 8.3 BE |meE mR
9H £l 31.0 28.0 28.0 7.0 7.0 BE me mR
118 BEh 22.0 21.0 21.0 7.0 5.0 BE mae mR
18 BEh 10.0 16.0 16.0 7.0 7.0 BE mae mR
38| Bh 9.0 14.0 14.0 7.0 6.0 BE Be i
4FRRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.3LLF | 0.03LLF
EE(75%1E) - 7.8 1.3(1.8) = <0.5 0.24 0.024
58 =E 8.2 8.4 1.7 - <05 0.22 0.035
IE 8.2 8.5 1.9 - <0.5 - -
78 == 8.3 7.3 1.8 - <0.5 - -
th B 8.3 7.7 1.8 - <0.5 - -
oF == 8.3 7.2 1.3 - <0.5 0.18 0.015
GIE 8.3 7.4 2.0 - <0.5 - -
118 == 8.2 7.6 15 - <0.5 0.28 0.025
GIE 8.2 8.2 1.0 - <0.5 - -
1A == 8.3 7.7 0.7 - <0.5 - -
IE 8.3 7.7 0.6 - <0.5 - -
3H == 8.2 8.2 <0.5 - <0.5 0.26 0.022
B 8.2 8.1 0.5 - <0.5 - -
BEIEE (REDHEHAD
I INESS S & ANE/RL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 = = = = = = = =
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 = = = = = = = =




Fh5400(1,3->4n0 = s —pats FARY TN . MREEERY
TI?‘I/‘J oAy 7’"77.1-\ v jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF [ 0.003LLTF | 0.02LLF | 001LLTF | 001LLTF | 10LLF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.13
58 - - - - - - - -
78| <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
98 - - - - - - - -
118 — — — — — — — —
18] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.25
38 - - - - - - - -
ZNHIEE
Jz/—n| @ sS =3 N PLTE VN R e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FIE - - 2 0.015 - -
=E - - 2 - - -
5H ;E _ _ 2 — _ —
B - - 3 - - -
78 ; E — — 5 — — —
= - - i< 0.015 — —
98 ; E — — r = — —
B - - 4 - - -
1 1 H ;E _ _ 3 — — —
= — — i< - - -
1 ﬁ ;E _ _ 2 - _ —_
—_ —_ 2 —_ —_ —_
3 [=]
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEISTE| 20000 <0.01 0.02
58 =E 19000 - 0.03
th|E 19000 - -
78 xB 20000 <0.01 -
th & 20000 — —
oF xB 19000 — 0.01
th|8 19000 - -
118 xB 18000 — <0.01
th|8 19000 - -
1A xB 20000 <0.01 -
th & 20000 — —
38 #&E | 22000 - 0.02
B 22000 — —




FRTEE

B L CIEHKE,
3 J #m L
5 :puk:Scd - COD¥HR! A(%%,. ) Eaf_.%‘ﬁiaﬁ
St.4 [ER-SEY I (EEL) HiDZEE
—iRIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 21.9 19.3 19.3 7.0 — BE |meE mR
78 BEh 28.0 27.0 26.0 6.0 6.0 BE mae mR
9H £l 31.0 28.5 28.0 10.0 75 BE |meE mR
118 BEh 21.0 21.0 21.0 9.0 6.5 BE mae mR
18l EBh 10.0 17.0 17.0 10.0 10.0 BE ) me
3A] ®Bh 9.0 14.0 14.0 10.0 8.5 BE i) mR
4FRRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) = 8.1 1.3(1.7) 2.0 <0.5 0.20 0.018
58 == 8.2 8.2 2.2 - <05 0.22 0.032
IE 8.2 8.6 2.4 - <0.5 - -
78 == 8.3 8.0 1.7 4.0 <0.5 0.21 0.012
IE 8.3 7.3 1.4 - <0.5 - -
oF == 8.3 7.6 <0.5 - <0.5 0.13 0.014
IE 8.3 8.5 2.0 - <0.5 - -
118 == 8.2 8.2 1.0 - <0.5 0.16 0.018
GIE 8.2 8.0 1.0 - <0.5 - -
1A == 8.3 7.8 0.5 0.0 <0.5 0.18 0.008
GIE 8.3 7.7 <0.5 - <0.5 - -
3H == 8.2 8.4 0.7 - <0.5 0.27 0.023
B 8.2 8.5 0.7 - <0.5 - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = s —pats FARY TN . MREEERY
TI?‘I/‘J oAy 7’"77.1-\ v jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.01LLF [0.00260F | 0.006LLF | 0.003LLTF [ 0.02LLF | 0.01LLTF | 0.01LLF | 10LLTF
I <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.10
58 - - - - - - - -
78] <0001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
98 - - - - - - - -
118 - - - - - - - -
1Bl <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.18
38 - - - - - - - -
ZNHIEE
Jz/—n| @ sS =3 N PLTE VN R e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - 3 0.011 - -
=E - - 4 - - -
5H ;E _ _ 3 — _ —
B - - 3 - - -
78 ; E — — 3 — — —
= - - i< 0.011 - -
°R 0 [ - - <1 - - -
=B - - 3 - - -
1 1 H ;E _ _ 4 — — —
= — — i< - - -
1 ﬁ ;E _ _ -I - _ —
—_ —_ 3 —_ —_ —_
3 [=]
LY HEEE . .
(mg/1) (mg/1) (mg/1)
SEIITE| 20000 <0.01 0.02
58 =E 19000 - 0.02
th|E 21000 — —
78 =B 19000 <0.01 -
th[8 20000 - -
oF xB 20000 - 0.01
th|8 20000 - -
118 xB 20000 - <0.01
th|8 20000 - -
1A == 20000 <0.01 -
th|8 21000 — —
38 #&E | 21000 - 0.02
th 23000 - -




FRTEE

B LTI HKE,
)Jl 1) lﬁ“ ‘j];’”f =l
5 2 :puk:Scd - COD¥EH! |A(FHBISR) Eaf_j%‘ﬁtﬁ
St.5 ER- BB I EHYR) Hi0ZEE
—RIEE _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 22.9 19.2 18.8 21.0 — BE |meE mR
718 BEh 28.5 28.0 27.0 23.0 45 BE mae mR
9H £l 30.0 28.5 28.0 23.0 45 BE me mR
118 BEh 21.0 22.0 22.0 20.0 55 BE mae mR
18l EBh 10.0 17.0 17.0 20.0 14.0 BE ) me
3A] ®Bh 9.0 14.0 14.0 22.0 7.0 BE i) mR
4FRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EE(E| 78~83] 755 F | 20LIF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 7.6 1.2(1.7) = <05 0.22 0.022
58 == 8.2 6.7 1.9 - <05 0.32 0.027
IE 8.1 7.0 1.9 - <0.5 - -
78 == 8.3 6.5 1.7 - <0.5 - -
IE 8.2 7.8 1.6 - <0.5 - -
oF == 8.3 7.3 0.8 - <0.5 0.13 0.013
IE 8.3 75 1.9 - <0.5 - -
115 == 8.2 8.0 1.3 - <0.5 0.18 0.021
GIE 8.2 8.0 1.3 - <0.5 - -
1A == 8.3 7.8 <0.5 - <0.5 - -
GIE 8.3 7.8 <0.5 - <0.5 - -
3H == 8.2 8.6 0.6 - <0.5 0.25 0.027
B 8.2 8.4 <0.5 - <0.5 - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
9A - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3R - - - - - - - -




FrS4Aa0a(1,3->4n — . s X2 N R
TI;-_ Ly I:I7I:I//\°> 7’"77.1-\ 872 a;Jj}-[:\j.J L A 2 4 Y iﬁi&é&;@;*u
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
_%gﬁ 0.01LLF [0.0020F | 0.006LLF | 0.003LAF | 0.02LLF | 0.01LLF | 0018LF | 10LLF
A = = = = = = =
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - —
ZTDhIFE
_ HRILL
Jx/—)L 7] SS 28 |yoafRiLA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - = 2 = = -
RE - - 3 - - -
58 ; E — — 3 — — —
=] _ _ 3 _ _ _
7H ; E — — 3 — — —
= - - A - - -
98 ; E — — < — — —
=] _ _ 3 _ _ _
=] _ _ 1 _ _ _
=] _ _ 2 _ _ _
38 i — — 2 - — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
SEIITE| 20000 - 0.02
55 =E 20000 - 0.02
hE 20000 - -
78 == 21000 - -
hE 20000 - -
98 =B 20000 - <0.01
hE 20000 - -
18 =E 20000 - <0.01
th B 19000 - -
1A == 21000 - -
hE 20000 - -
3H == 21000 - 0.02
B 21000 - -



FRTEE

B L CIEH KB,
zzBuk 4 =1 H10E i
5 uF3c) - COD#E! |AGG#HBIR) L’%ﬁtﬁ
St.6 ER- BB I EHYR) HiDZEE
— &I E _
KR (°C)
XiE_[SE(C) =E e 2KE 75 B FE TR =X 2=
58 BEh 23.0 19.0 18.8 13.0 — BE |meE mR
78 BEh 30.0 275 26.5 11.0 25 BE |meE mR
9H £l 30.0 28.5 28.0 11.0 25 BE |meE mR
118 BEh 21.0 22.0 22.0 11.0 5.5 BE meE mR
18 BEh 11.0 16.5 16.5 8.0 8.0 BE mae mR
3A] ®Bh 9.0 13.0 13.0 7.0 6.5 BE i) mR
4FRRIFIER
oH DO COD |XBEHE |h-~FH UM 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 8.0 1.4(2.0) = <05 0.22 0.020
58 == 8.3 9.6 2.4 - <05 0.25 0.024
IE 8.2 8.4 2.0 - <0.5 - -
78 == 8.2 6.3 2.0 - <0.5 - -
IE 8.2 7.3 2.0 - <0.5 - -
oF == 8.3 75 1.4 - <0.5 0.16 0.014
IE 8.3 7.9 15 - <0.5 - -
118 == 8.2 8.0 1.1 - <0.5 0.19 0.018
GIE 8.2 7.8 1.8 - <0.5 - -
1A == 8.3 7.8 0.6 - <0.5 - -
GIE 8.3 7.8 <0.5 - <0.5 - -
3H == 8.2 8.9 0.6 - <0.5 0.27 0.024
B 8.2 8.9 1.0 - <0.5 - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 = = = = = = = =
yani| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
Ay ot Iy IFLY |[AxFLy | ATAY OT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
:'Z _ — — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 = = = = = = = =




FrS4Aa0a(1,3->4n — . s X2 N .
TI;-_ Ly I:I7I:I//\°> 7’"77.1-\ V872 a;Jj}-[:\j.J oty 2 4 P iﬁi&é&;@;*u
: (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
_%gﬁ 0.01LLF [0.002LLF [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF [ 001LLF [ 10LLF
A = = = = = = =
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
ZTDHIEE
_ HRILL
Jx/—)L 7] SS 28 |yoafRiLA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - = 3 = = -
RE - - 2 - - -
58 ; E — — 2 — — —
=] _ _ 3 _ _ _
78 ; E — — 4 — — —
= - - < - - -
9/ ; E — — 5 — — —
=] _ _ 3 _ _ _
=] _ _ 2 _ _ _
=] _ _ 2 _ _ _
38 i — — 3 — — —
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
SEBTE|] 20000 - 0.02
58 == 19000 - 0.02
hE 20000 - -
78 == 19000 - -
hE 20000 - -
oF == 19000 - <0.01
hE 20000 - -
18 =E 20000 - <0.01
hE 20000 - -
15 =E 20000 - -
IE 21000 - -
38 =E 20000 - 0.02
B 21000 - -



FRTEE

B L CIE DK,
3 J #m D5
5 :puk:Scd - COD¥HR! A(%%,. ) Eaf_.%‘ﬁtﬁ
St.7 [ER-SEY I (EEL) HiDZEE
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 23.0 19.9 19.9 15.0 — BE |meE mR
78 BEh 30.0 275 26.5 16.0 5.0 BE |meE mR
9H £l 30.0 29.0 28.5 16.0 5.0 BE |meE mR
118 BEh 21.0 22.0 22.0 25.0 7.0 BE mae mR
18 BEh 11.0 17.0 17.0 25.0 17.0 BE meE mR
3A] ®Bh 10.0 14.0 14.0 26.0 7.0 BE i) mR
EFRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 100051 F | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.8 1.2(1.6) 12 <0.5 0.18 0.017
58 == 8.2 8.1 1.8 - <05 0.19 0.026
IE 8.2 8.0 1.6 - <0.5 - -
78 == 8.3 6.7 1.7 23 <0.5 0.22 0.012
IE 8.3 7.4 1.7 - <0.5 - -
oF == 8.3 7.3 1.1 - <0.5 0.14 0.012
IE 8.3 7.7 1.1 - <0.5 - -
118 == 8.2 7.9 1.2 - <0.5 0.17 0.017
GIE 8.2 8.2 1.1 - <0.5 - -
1A == 8.3 7.8 0.6 0.0 <0.5 0.16 0.008
GIE 8.3 7.7 <0.5 - <0.5 - -
3H == 8.2 8.6 0.9 - <0.5 0.22 0.026
B 8.2 8.6 0.8 - <0.5 - -
BEIEE (REDHEHAD
I INESS &0 ANEYRL|  #MFE fikéR |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
E <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = s —pats FARY TN . MREEERY
TI?‘I/‘J oAy 7’"77.1-\ v jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 0.01LLTF | 0.00260F | 0.006LLTF [ 0.003LLTF | 0.02LLF | 001LLTF | 001LLTF | 10LLF
I <0.001 [ <0.0002 ] <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
58 - - - - - - - -
78| <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
9A - - - - - - - -
118 — — — — — — — —
18] <0.001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.16
38 - - - - - - - -
ZTNDIEE
IV L
Jx/—)L R SS 2HEN |soakRILLA FILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHEl - - 2 0.008 - -
=E - - 2 - - -
5H ;E _ _ 4 — _ —
B - - 2 - - -
78 ; E — — 2 — — —
= - - 1 0.008 — —
9A T — — % = — —
=B - - 2 - - -
1 1 H ;E _ _ 2 — — —
= — — 4 - - -
A Tew - - < - - -
=E - - 2 - - -
3
Bt | EEERYE . .
(mg/1) (mg/1) (mg/1)
SEIITE| 20000 <0.01 0.02
58 =E 20000 - 0.02
th & 20000 — —
718 xB 20000 <0.01 —
th & 20000 — —
oF xB 20000 — <0.01
th & 20000 — —
115 xB 20000 — <0.01
th & 20000 — —
1A xB 21000 <0.01 —
th & 21000 — —
38 #&E | 21000 - 0.02
B 21000 — —



